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(3) frem (4) T
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(1) I St 7 37 st & forld d=i |
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% fod |

(2) 4 e wfy of w w@im 7 @ w
O WETH w0 % ol

(8) $f w4 F ford T 50000 7% =
ST T FO1 NG FA B o1l

(4) diw, 3at i Freamrnt # o
T W S0 & ol

(5) e ¥

i s s e S AE &7

(1) e SEH He

(2) deyra faerg

(8) mmEss &ei w1 Pl

(4) $fm wo ¥ derm @@ w7
=

(5) HgwiE S

g 7 =i Al W S st
qftEE & Huw! &t gEgar Fi % ol Wi
ifmdasR i dm g R ?

(1) g vfEes g

(2) Hf-dia gfmes arem

(3) P IgH A

(4) Y e afifa ufiaew dm

(6) e e

What was the rank of India in the
world in automobile market in
December 2022 ?

(1) First (2) Second

(3) Third (4) Fourth

(5) Question not attempted

Which of the following is*not one of
the products created under the aegis

of Pradhan Mantri Mud#a Yojana ?
(1) Shishu (2) Taxiin
(3) Kishore (4) Yoya

(5) Question not attempted

The Kisan Credit Card Scheme
(KCC) was introduced in 1998 in
India for farmers with the following
objective -

(1) to provide adequate and timely
credit support from ‘the banking
system for their cultivation and
other needs. o

(2) to provide adequaté.and timely
credit at 4 percent péxr annum.

(3) to provide interest free loan upto
¥ 50000 for farm operations.

(4) to provide seeds, fertilizers and
pesticides at concessional rate,

(6) Question not attempted

Which one of the following is not a

main function of NABARD ?

(1) Refinancing

@) Institutional Dmla%ﬂ.

(8) Inspection of Client

(4) Control of nﬂn;]hstltutmnal
sources of agricultural

(6) Question not attem

Which of the following scheme has

been launched in India to assist

farmers in transporting agricultural

products on national and

international routes ?

(1) Rapid transportation scheme

(2) Agri-rapid transportation scheme

(3) Krishi Udan Scheme

(4) Agri-value added transport
scheme

(5) Question not attempted
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(3) mawatfy  (4) T afufy
(5) FwiE ¥
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ﬁwa#wmwﬁmwm"
' 1995-96 (2) 1996-97
1997-98 (4) 1998-99
(6)) FATTE ¥
e wvie & 9 &9 3 WH 9
. BR 3 # w1 T s =R 2
(1) fory) gy =t weEn
(2) wreret fre =) sieame
(3) Ifts wmfors gem Franatt =
TR

(4) 7= firen w1 Frsfientur
! it g
' 9t W fEEm
A yurrsht fram e e
gﬁ‘*mmwm
Frrenfasft WE WerTR dren
I § § W 91/8 wifas- 19 mEmrl %
A He &t UFA & for fsm mn wq@
g I R/ 7
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@*ma Batt Cudr ¥
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o= & & vy = w9 @ osy o M
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(1) Bao (2) fafesa
(3) ITEE (4) P
(6) Frgala W

P
=

Which of the following committee
has recommended PPP model for
coal and power sector to revive
investment ?

(1) Singhania Committee

(2) Basu Committee

(3) Parekh Committee

(4) Reddy Committee

(5) Question not attempted

In which year the Rural
Infrastructure Development Fund
was created in India ?

(1) 1995-96 (2) 1996-97

(3) 1997-98 (4) 1998-1999

(6) Question not attempted

To obtain full benefits of

demographic dividend, what should

be done in our country ?

(1) Reduction in infant mortality rate

(2) Promotion of skill development

(8) Introduction of more social
security schemes.

(4) Privatization of higher education

(6) Question not attempted

Consider the following measures :

A. Pradhan Mantri Kisan
Samman Nidhi

B. Pradhan Mantri Garib Kalyan
Yojana

C. Atma Nirbhar Bharat Rojgar
Yojana

Which of the above is/are key safety

net measures.to prevent distreass
during Covid-19 pandemic ?

Choose the correct options from below :
(1) Only A & B are correct

(2) Only B & C are correct

(3) Only A & C are correct

(4) All A, B and C are correct

(6) Question not attempted

Which of the following States of
India became the first state in the
world to become one with fully
organic farming ?

(1) Tripura (2) Sikkim
(3) Uttarakhand (4) Mizoram
(5) Question not attempted




11.

121

13.

14.

15.

A § Hifas-19 e gEdt SZauE &
HHU FH A1 & FEE H W91 §HT 7
(1) &+ (2) F=m

(3) (4) Fmfor

(5) Fgefa T

F @ e wad & e v @
Freatas g sdsEen g ?

(1) Asa B (2) Baw C

(3 CanD (4) A, DT E
(5) A 9=

aoftr &1 &% fo Tl ofEm @R
g (NFHS-5) (2019-21) % 48R

frget ute ol § w=1 % fog 9799 & w09
fom s (rf 1000 st ot afed) e
(1) 927 (2) 931

(8) 940 (4) 950

(6) i e

?ﬁqﬁ 2022 ¥ e T gEE 18%

a mﬂﬂsmaﬁmﬁmﬁﬁw
ﬁﬁtﬂﬂi

w4~
o

ﬂ%ﬁqwmﬁsﬁz@nmmm
1 99 i ;

(1) a3®b
3) asfd
(5) Frgafa v
"I i aifts @A e § AR)°
frefefes § @ o5 @ 9 RS
yitde a1 7

(1) 11 qeradfa g

(2) 10 gaadfa e

(3) ot geradfa Ao

(4) &t geradg e

(6) HAgofa v

Ao o

(2) a3fRe
(4) d3fRe

11.

12!

13.

14.

15.

Which sector was least impacted
due to Covid-19 pandemic related

tions in India ?
(1) I\Eﬂm (2) Industry

(3) Agriculture (4) Construction
(5) Question not attempted

In the below given characteristics —
A. Low per capita income

B. Equitable distribution of
income

C. Low dependency ratio

D. Poverty and unemployment

E. Lack of entrepreneurs
Which characteristics show that

India 1s an underdeveloped
economy 7

1) A and B (2) Band C

3) Cand D (4) AADand E
5) Question not attempted
According to National Family

Health Survey (NFHS-5) (2019- 21]
for rural areas sex ratio at birth for
children born in last five years
(females per 1000 males) was

(1) 927 (2} 931
g; 940 (4) 950

Question not attempted
Why did Wholesale Price Index

rise to 13% in the financial year
20227
a. Post pandemic economic

activities resumed.
b. Russia Ukraine conflict.
c. Supﬁlli.' of food increased.
d. Decline in global commodity

Select the correct answer using the
codes given below :
&1 aandb (2) aandc
3) aandd (4) dand ¢
(5) Question not attempted

“Towards faster and more
Inclusive growth” which one of the
following plan documents was
titled with above statement ?

(1) Eleventh Five Year Plan

(2) Tenth Five Year Plan

[3; Ninth Five Year Plan

(4) Eighth Five Year Plan

(5) Question not attempted
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17.

18,

Following statements are given :

A. National S8kill Development
Corporation was established
in 2008,

B. National 8kill Development
Agency was created in 2014,

C. Pradhan Mantri Kaushal Vikas
Yojana is being implemented
by the National Skill
Development Council,

D. DDU-GKY is a critical
component of the National
Skill Development Policy.

Which statement is correct ?

(1) Aand D (2) Band C

(3) Cand D (4) Aand C

(5) Question not attempted

What percentage of population in
India is multi-dimensionally poor,
according to Multidimensional
Poverty Index released in October
2022 based on Survey data 2019-21
(As per UNDP Report) ?

(1) 10.4 percent (2) 12.4 percent
(3) 16.4 percent (4) 18.4 percent
(6) Question not attempted

Which of the following is not one of
the features of Pradhan Mantri
Jan Dhan Yojana (PMJDY) ?

(1) There is no requirement to
maintain any minimum
balance in PMJDY accounts,

(2) Under this scheme a Basic
Saving Bank Deposit account
(BSBD) can be opened in any
bank branch or business
correspondent (Bank Mitra)
outlet, by persons not having
any other account.

(3) Accidental insurance cover of
¥ 2 lakhs is available with
Rupay card issued to PMJDY
account holder for accounts
opened after 28.08,2018,

(4) An (OD) overdraft facility of
upto 20,000 is available to
eligible account holders,

(5) Question not attempted
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(1) Haur™ (2) 3, AN

(3) Haww (4) HIOH

(5) FvIfea S

faeftg ad 2028 % g ww # anfls
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Three concepts of unemployment

developed by NSSO are given :
A, The usual - it determines
status the usual
activity status
— employed or
unemp or
outside
labour force.
B. The current - it deterfiines
weekly the acti
status status
person with
reference to a
period of
preceding
seven days.
C. The current - it considers the
daily status activity status
of a person for
each dayof the
preceding
seven déys,
Which of the above congept is
correctly defined ? o
(1) Aand C
(2) A,Band C
(3) Aand B
(4) Only C

(6) Question not attempted

During financial year 2023 India's
economic growth has, been
principally led by o

a. Private consumption ¢

b. Capital formation

e. Government taxation ﬂ

d. Government debt ’
Select the correct answer using the
codes given below :

(1) aandb (2) aande

(3) aand d (4) dand ¢

(5) Question not attempted
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21, ¥y wWeq @ fr=fefes @l & | 21. Frequency distribution can be
Tty w9 @ wgd e o ww R presented graphically in the
A, femm (smafa smanfem) following ways :

B. m (ugiva) g. gl!tﬂgrﬂm

C. et ) 3 e

C.

D. qré (gt for) 5o

wt fere w1 w2 it Choose the correct option :
(1) A B (2) AdRC (1) Aand B

(8) AsRD (4) B#RC (2) Aand C

(5) qﬂﬂ'ﬂ e (8) Aand D

22. ﬁ"?ﬂﬂlﬂl T &1 Frgufieen (VW) g & E;; g::a{:isn not attempted

(1) ST ) =yTE w3 A |l s
UL 22, 'Stub’ of a table is the - .

(2) ::ﬁ mf ST H T RO (1) I_;laft pia.rt of the table describing

the columns.

(3) dferat it =@ &@ qEn TR (2) Right part of the table
Tt v describing the columns.

(4) fwat Y T FE AT /Oh w5 (3) Right part of the table
st describing the rows.

(5) e s (4) E}?:tr:;:it of the table describing

23, L% g=11 | giem A aur (5) Question not attempted

= fea m w21 w1 I w@
o o 23. Match List-I with List-Il and
% ;-I S sa}&act cnrrec]: ainawar by using the
n codes given below the lists :
(wftenon) (o Y st List-1 List-II
A y=4+2x a AWK (Equation) (Shape of Graph)
ey A y=4+2x a, Rectangular
T b, @ hyperbola
4 ]: 5 }'ETE o ] B. y=x* b. Straight line
C. y= - J C . ¢. Exponential
el curve
:E E:: Ch d. e ’ D. y=2% d. Parabola
- Codes :
BE ¢ D | XN B ¢ p
(1) e d a | (1) b ¢ ", A
(2) ov ¢ 4, B b ¢ =a d
@D d a ¢ [ERLBE B . s 0
4 b a ¢ d I 4 b a ¢ @
(5) FrwiE v ] (6) Question not attempted
7

72




24.

25.

27,

100 et =1 wTET 40 T WA & | Afe

TORT W TR g FE) 3 3R 72 &t "
e | 80 3tk 27 @ & ™ @ 76 =
wra g |

(1) 40.12

(3) 40.18

(5) e ¥
fr-firm e el & wE & forg
ﬁﬁﬁﬂaﬁﬂhMﬂfﬁ?

(1) AM:>GM=HM M o~

(2) AM>GM>HM

(3) HM=2GM = AM =¥

(4) GM>AM >HM 9

(5) wrwrfa W

T A Soft §

(1) Bt wt- et o R fob s #
(2) Forereft wften = forere e e # |
(3) Tt v =) Freer e s # |

(4) qﬁh&mﬂﬁﬁmﬁmmm
(6) e wa

Tl & FII #g&ﬁﬁﬁh&m
wtﬁﬁm:@wmm
LU GLE

gl

(e =1 7EN)

A, wifers a.

(2) 40.16
(4) 40.20

t4
%i:

B. wEe®
C. Tl AT

D. ®s 91 d.

ooo L

24,

26.

27.

(Type of Average)
A,

D. Harmonic Mean d.

The mean of 100 observations is
found to be 40. If at the time of
computation two items are wrongly
taken as 30 and 27 instead of 3 and
72, find the correct mean,

(1) 40.12 (2) 40.16

(3) 40.18 (4) 40.20

(5) Question not attempted

Which of the following expressions,

holds true for a set of distinct

positive observations ?

(1) AM=GM=zHM

(2) AM >GM>HM

(8) HM 2 GM 2 AM

(4) GM > AM > HM

(5) Question not attempted

In an exclusive series :

(1) Both the class
considered.

(2) The lower limit is excluded.

(3) The upper limit is excluded.

(4) Both the limits are excluded,

(5) Question not attempted

Match List-] with List-II and
select correct answer by using the
codes given below the lists :

List-I List-I1

(Use)

a. Average size
of shoes
Average
speed
Average
intelligence
level
Average rate
of growth

limits are

Median
Mode b.

Geometric Mean c.

Codes :
A

@ .
3 d
(4) ¢ a

(6)

B
a
b
e

ocoo
=P =M

Question not attempted
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31.

82,

33.
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(5) e S

s e w T #

(1) 98 9 qea i ufeafa @ wnfag
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(4) T T HaE GEATHH AHG A
F ST wEA R |

(5) FFFwia ¥

fe B, > 3 8 At 75 FEea &

Q) FEfE  (2) AEEE

(B) =fesffs (4 FHAIBETE
(5) Igerica ¥

ot 2 Sl YT g B F-
W FTeA #, @ FEEEY O H A
11 (2 -1

Ea% 0 (4) 0.9

(5) Jgmiea

e : Y =06 bey =08 @
0,=4. 0, FAA T8 ?

§1g 2 sz} 3

3) 4 4) B

(5) FFeE ¥

U EARE %ed H Wged 50 T
et 52 & | WS w1 A1 T ?

(1) 53 (2) 52

(3) 51 (4) B4

(5) I S

28.

29.

30.

31.

a2

Consider the following :

A.  The algebraic sum of deviation of
a set of values when taken from
their arithmetic mean is zero.

B. The sum of squares of the
detidtions of a set of values is
makimum when taken about the
arithmetic mean.

Choose theécorrect option :

(1) OnlyA is correct.

(2) Only B is correct.

(3) Both A & B are correct.

(4) Both A & B are incorrect.

(5) Question not attempted

The merit of quartile deviation is —

(1) Itis not affected by the presence of

extreme values.

2 It mcapable of mathematical

manipulation.

3 It hnbaamphng stability.

4 It be calculated in
q tive data only.

(5) stion not attempted

IfB, > 3, the curve is called :

(1) Leptokurtic

(2) Mesokurtic

(3) Platykurtic

(4) None of these

(6) Question not attempted

If two regression lines intersect each
other af vight angle, then the value of
correlation co-efficient will be :

() 1 & (2) -1

3 0 M) (4) 0.9

(6) Question not attempted

Given dve”: Y = 0.6, bxy = 0.8 and 0,~4.
What is value of o, ?

(1) 2 2 3

(8) 4 (4) b5

(6) Question not attempted

In a moderately asymmetric distribution,
mode ia 50 and median is 52. What
will be the value of mean ?

(1) 53 (2) 52

(3) 51 (4) b4

(6) Question not attempted




34.

35.

36.

37'

Af 2 et Yamd &
-5X+6Y=90
16X - 8Y =130

T HEEEY VT BT 9 B

(1) 8/2 @) 23

(3) 9/4 (4) 4/9

(5) Fwia W

F1 it i adt 2 2

Tlﬁ_"rlﬂrﬂ-ﬂ

(D) Yyg= (-2 (1-12)
@) Yoy, =~
Y (1-1i)
e Ypg = TpoT
1aa = (1 - T?a) (1 1 ng)
@ x i
(1 13) (1 3 T;a)

(5) Fgvia ww

s
Hﬁmﬁrmﬁ
(1) a3fd 2) bafkd
(8) calrd (4) a,bafRec
(6) Ireifea ww=
Y #1 X, o X, ® wgoft el st
i wmEfiE w9 W wgpl TEdEy
T (R) 1 W9 0.90 WIW g3 | i
W F fwm & femd whem wm o=

P Em s S o st 2
(1) 90 wirra (2) 81 wfemm

(8) 10 wferwra (4) 19 wfeem

() it S

34.

35.

386,

37.

If two regression lines are,
- 56X +6Y =90
15X -8Y =130
then the wvalue of correlation
co-efficient will be : )
@ 2.

(1) 3/2
(3) 9/4 (4) 4l9.

(5) Question not attenipted
Which is the correct e%ssiun ?
T1s—T15Y5

-\

TIE TIETEH

NS

(1) Yy35=

@) Yy, =

(6) Question not attemptad

The components of time series are :
a. Secular trend

b. Seasonal trend

¢. Cyclical trend

d. Structural trend ¢

Choose the correct optm
(1) aandd (2) bland d
(8) candd (4) 4, b and ¢

(6) Question not attampﬁad

In fitting multiple l.maa'r regression
equation Y on X, and X,, the value

of multiple mrrelatinn co-efficient (R)
is .found to be 0.890. What is
proportion of variation in dependent
variable explained by independent
variables ?

(1) 90 percent (2) 81 percent
(3) 10 percent (4) 19 percent
(5) Question not attempted
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38.

39.

40.
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-1 (e 6 ) e -1
(rade) R A E

-1 11

A TEr@m D, e

B. =fwfE E s w4
e

C\ﬁm F. U somriE
iw'

@Iamqju; nﬁhmgﬁmgﬁq

P -F E

22 F D E

@ E F D

49 D E F

(5) el 53

fopet grefereen # ggefife (D) @1 5 (R)

fiwfma w1 ¢ Ak gEhf @

mﬁwﬁnn.zi et it wifrear 0.3 B 3k
' 3w & wikesa 0.06 8 ?

(lk 0.56 (2) 0.54

(3) 0.44 (4) 0.46

(6) 3wt e

g1 (@ Aoft % wew) aun eIl

(e & fafen) S & |

c" st

I

G. wdmgem |

fafly |

@Ja@n%nﬁrﬁaﬁmm |

i ; I

ACB. ¢ |

1) ¢ E F |

@2 E F G |
@ F G F

@ & F G |

(5) el |

38. List-I (Concept of probability) and

39.

40.

List-IT (Propounder) are given as
below :
List-1 List-I1
A, Classical D. Laplace
Approach
B. Subjective
Approach
C. Axiomatic
Approach
Select the correct match of List-I
and List-II :
A B
@) b . F
2 F D
& E F
4 D K
(5) Question not attempted
What is the probability of Inflation
(I) or a Recession (R) in an
economy, if the probability of
inflation is 0.2, the probability of
recession is 0.3 and the probability
of inflation and recession is 0.06 ?
(1) 0.56 (2) 0.54
(8) 0.44 (4) 0.46
(5) Question not attempted

List-I (Component of time series) and
List-II (Method of measurement) are

E. F.Ramsey

F. A. Kalmogorov

=HOEEO

given :
List-I List-II

A. Secular E. Ratio to Trend
trend method

B. Seasonal F. Residual
variations method

C. Cyclical G. Semi-average
variations method

Select the correct match of List-I

and List-II :
A B C

iy G E F

(2 E F G

1 A - ) )

4 G F G

(5) Question not attempted




41.

42.

43.

44.

45.

@TEl w2 1 YATY e B @

(1) 3m @) Vm

(3) m? (4) T 8 15 7
(5) Fwa W

o= % A wRem s Rt A @i 22

(1) Fofg sferags fafy

(2) ey wieaga fafy

(3) aferen witreg fafa

(4) =geat wfra fafy

(6) T 5o

foft wow & 5 el € | W @

wfeeare wfea ot 7 2 swEEt & e

wvTea Wiew & S Bt

(1) 100 (2) 15

(3) 125 (4) 25

(6) Jrgaita e

i@ wieegm ¥ v %) Riftm =i d

YR gier I & 7

(1) Tt =l & steorta =ufie st &
FAR wfywan 8 aur fafve =0 %
w S AT A |

(2) fafm = % Fwle safm wmal
au fafem =il & ¥ s Fan 8 |

(3) faftm =i % siwfa Safm Tomral
e faftm =i % e s sifveam
Ll

(4) fafirs =l & sieta 99fia somal &
S =g B T R il % d
Fa At R |

(5) Feifa woA

MyRET R oA T e ?
(1) 4/13
(3) 113
(6) gt W

(2) 2118
(4) 18/52

|
|
|
|
i
52 el § & ue v Freen S R | s I 4b
|
|
l
12

41.

42,

The standard deviation of Poisson
Distribution is —

(1) 3m 2) \m

(3) m? (4) None of these
(6) Question not attempted

Which one of the following is a
probability sampling method ?

(1) Judgement sampling method

(2) Quota sampling method

(3) Convenience sampling method
(4) Multistage sampling method

(5) Question not attempted .

A population comprises 5 units. The
number of all possible samples of size
2 that can be drawn from it with

replacement is ;
(1) 100 (2) 15
(3) 125 (4) 25

(6) Question not attempted

Under stratified sampling population
is divided into finite strata in such a
way that :

(1) The differences among sampling
units within different strata is
maximum and the di ces
among different strata 1is
The differences among sampling
units within different :& as
well as the differences among
different strata is minimum.

The differences among sampling
units within different strata as
well as the differences among
different strata is maximum,

The differences among sampling
units within different strata is
minimum and the differences
among different strata. is
(5) Question not attempted

(2)
(3)

)

One card is drawn from a pack.of 52
cards. What is the probability that it
is either a King or a Queen ?

(1) 413 (2) 2/13

(3) 1/13 (4) 13/52

(5) Question not attempted
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46.

47.

48.

72

e d A 99 8wy vl 2 HE A9

a2 7 H2 1 39 T L WE TH

g3

A. wETE we fEae e w1 dimid w9 8
S n FE AT Ad paadq
I & FE-IE E |

B. YW ®ed aEi &l & ¥
e B 2 |

¢ e W # T AEgieE 9%

L, SEE AR |

Dy s ST ¥ & f me =

E@mmwﬁmh

(1) ¥ae BE@t # |

(2) AsRBEEE |

(3) efi we & |

(4) oft s TET & |

{5} ECRIGREE]
ﬁmﬁﬂmﬂumﬂsmﬁmw

QT o fove faem # wei 6 den
n+1 Bt & |

(2} (q+p)® w1 HeT g 12¢%p3 EAT R |

@) (@rp)!FTHE 1464180 E|

(4) R p % for =it & n F 9fz Bt R,

fae w2 Tt FRgEaT R |
(5) SRE S
38 e & o &
A, sfemar B, @
G i D. @
fmre 1 w4 e
(1) A3 B
(2) B, C3D
(3) A, B3R C
(4) A, B,C3D
(5) Irgeia

46.

41'

| 48.

13

Which of following statements are
correct ? Select correct answer using
codes given below the statements.

A. Normal distribution is a limiting
case of binomial distribution
when n is large and neither p nor
q is close to zero.

B. Normal distribution is
asymptotic to both axes.

C. The shape of normal distribution
is like a mesokurtic curve.

D. For standard normal distribution
mean is zero and variance is one.

Codes :

(1) Only B is correct.

(2) A and B are correct.

(8) All statements are correct.

(4) All statements are incorrect.

(5) Question not attempted

Which one of the following is not

correct about Binomial distribution ?

(1) The number of terms in a
binomial expansion is always
n+1l.

(2) The third term of (g+p)°® is
12¢%p?

(3) The co-efficients of (q+p)* are
14641.

(4) As n increases for a fixed p, the
binomial distribution moves to
the right.

(5) Question not attempted

Properties of good estimator are :
A. Unbiasedness

B. Consistency

C. Sufficiency

D. Linearity

Choose the correct option :
(1) Aand B

(2) Band Cand D

(3) Aand Band C

(4) Aand B and C and D.
(6) Question not attempted




49,

50.

61,

= d & a7 @1 w9 fjgg @27 &

AT o A 5w T @ 2

(1) wheor gam wfifeefemt § ffdem an
% forg P sman |

(2) W e o 21 & afom R # |

(3) faftra whiavit # wwen & wiws
Prwdt

(4) Rftm ol m g wivhsam )

(5) FrFwia WA

A9 3 % gEy | fm & § B W s

w2

A w9 AR uimesw & wlew
e it Pt )

B. wa™ 3R % sgorw ®t wigww &
Trvaerfraa a1 whem & 79 ¥ w9
s d |

at e o

(1) Fa AThE |

(2) FTABEAR |

(3) A BeRiadi |

(4) AsfhBERimem & |

(5) IrFeia wes

= # @ 99 w1 wizm Wl wew wwemn

%2

(1) JEmT= "2

(3) faug wew

(5) FFwia WeA

(2) =TE! g2
(4) ortes W&

—— ————
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50,

I 51.

| 49. Which of fn]luwing statement is not

correct about the assumptions of

binomial distribution ?

(1) A trial is performed under the
same conditions for a fixed
number of times.

(2) For each trial there are only
two outcomes.

(3) Probability of success remains
constant under different trials.

(4) Different trials are dependent
to each other.

(5) Question not attempted

Which of the following statements

is correct with regard to standard

error ?

A. Standard error plays an
important role in testing of
the hypothesis.

B. The reciprocal of standard
error is taken as the measure
of reliability or precision of
the statistic,

Choose the correct option :

(1) Only A is correct.

(2) Only B is correct.

(3) Only A & B are correct.

(4) Only A & B are incorrect.

(5) Question not attempted

Which of the following distribution

is known as Bernoulli distribution ?

(1) Normal distribution

(2) Poisson distribution

(3) Binomial distribution

(4) Integer distribution

(56) Question not attempted
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52.

Given are List-I (Name of test)
and List-II (Application of test).

List-I List-II
A. t-test D. Testing significance of
correlation coefficient
B. y2-test E. Testing significance of
regression coefficient
C. F-test F. Testing homogeneity
G. Testing significance of

difference in variances
Which one of the following is the
correct match of List-I & List-II ?

A B C
1k 1 I © S
2 E G D
3 E D G
4 D F G
(5) Question not attempted

Which of the following statements
is/are correct with regard to
Poisson distribution ?

A, It is a discrete probability
distribution.

B. It is used to determine
probability of designated
number of successes per unit
time.

C. The event or successes are
independent and average
number of successes per unit
time remains constant.

Choose the correct option :

(1) Only A & B are correct

(2) Only B & C are correct

(8) Only A & C are correct

(4) All A, B & C are correct

(5) Question not attempted




54.

67.

58.

wré-ar ol w1 W T we =,
I NF AR, AHa R

(1) 85 2) 5
(3) 60 (4) 10
(5) Fgwia ww=

A #ifg fedt o w1 Wi wem
p=80-qHguiEm ™R
IR A p =60}, F I R = R

(1) 200 (2) 300
(8) 250 (4) 350
(6) e set

g i & we AC = 25 — 8X + X2
B & R smmE (X) % ' w s

T (AC) =g gt ?
(1) 4 (2) 5
(8) 6 - 4 2
(5) e wed

6] X F1 "i-%e p = 28 — 5X au1 $

o %o C = X2 + 4X % | @

Ao @ T IR TR ?

(1) X=1.5 (@ X=1

(3) X=3 (4) X=2

(5) FFFwla W

tRmrFmifesm AR E.

a. Wfoes 1 AMHR 30 71 A B W W
IEmEm R |

b. ¥o%T e T % g Rem A |

c. Wiuest ®1 HAHR 40 T It B T
TH I B R

d. 3% fema femm & gro e ma o |

et ey wr T it

(1) a3®b (2) bafRe
(8) c¥d (4) a3fRd
(6) sFgana =

I
|

e —— e e
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54.

55.

56.

57.

58.

Chi-square test should not be

applied if N is less than -
(1) 356 (2) 6
(3) 50 (4) 10

(5) Question not attempted

Suppose the demand function of a
consumer is given by the tion
p=80-gq Ifthapricaispfa@. the

consumer surplus is - <t
(1) 200 ) 300 =
(8) 250 (4) 850 7

(5) Question not attempted

If average cost function is
AC = 25 - 8X + X%, then at what
output level (X) AC is minimum ?
(1) 4 (2) 6

(3) 6 (4) 2

(6) Question not attempted

Demand function for a goo is
p = 28 - 5X and total cost function
is C = X2 + 4X. What issprofit
maximizing output ? ~¥

(1) X=1.5 (2 X=1%

(3) X=3 (4) X=2

(5) Question not attempted

Following statements about

t-distribution are given :

a. It is used when sample size is
30 or less.

b. It was developed by Gosset.

e. It is used when sample sizé is
40 or more. (N

d. It was developed by Fisher.
Choose the correct option :
(1) aand b

(2) bande

(3) cand d

(4) aandd

(5) Question not attempted
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59. Iz (AB) = 20, (AB) = 30, (ap) = 10,

60.

61.

62.
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(o)) = 50, 7@ N &1 qe4 B
{{111 50 %’3 100

(3) 75 (4) 110
(5) FFgaia e
IEqTE Fe 59 NHR a1 g R

Q= 13}{“2}{“1(37

;'qm’fq = 3ae, X, = qff, X, = 3R

X, ﬁsﬁtm&ﬁmz 9 HUg B

ﬁé:mmﬁmmmiamﬁf#m

QTR A iy 5 fivn A

(1) T36%0E  (2) T1.8FE

(8) T0.9®UE  (4) T2.7HS

(5) rFa W

%o Z = f(x, y) % o g=ht-1 = g=1-11
3 e Hifvd s gfewl & 9= e m

@mmmmﬂﬁlmgﬁi

g1
zL fxx.fyy > (fxy)?
a9 fxx, fyy <0

-1
a. =gJaH

b. we-fig
Fftrpay

Ba fx fyy > (fxy)*
a1 fxx, fyy > 0
fxx.fyy < (fxy)>  c.
a fxx, fyy & %

U G0 B

fxx.fyy < (fxy)?

C.

D. d. wrewfag

a9 fxx, fyy & 8

N P

e

fs%z

opoR
rROoODRO

= g ol = =

oot

(5) mﬂﬂﬂﬂm

J'En}(dxa?rmqwﬁ?

(1) = (InX-X)+C (2) X(nX+1)+C
(3) X(InX-1)+C (4)XInX+C

(5) SFEIRE A

89.

61.

62.

17

If (AB) = 20, (Ap) = 30, (ap) = 10,

(a) = 50, then the value of N will be —
(1) 50 (2) 100
(3) 75 (4) 110

(5) Question not attempted
The production function is given as

Q= lsxﬁﬂxﬂlxg'?
Where Q = output, X; = land,

X, = labour and X3 = capital. If
total output is ¥ 9 crores and
inputs are paid according to their
marginal productivity, then share
of land will be

(1) T3.6crore  (2) T 1.8 crore
(8) ¥0.9crore (4) ¥ 2.7 crore
(5) Question not attempted

For the function Z = f(x, y) match
List-I with List-II X select
correct answer using codes given
below lists :

List-I List-II
fxx.fyy > (fxy)* a. Minimum
and fxx, fyy <0
fxx.fyy > (fxy)2  b. Saddle
and fxx, fyy <0 point
fxx.fyy < (fxy)? ¢. Maximum
and fxx, fyy
have same signs

. fxx fyy < (fxy)? d. Inflexion
and fxx, fyy have point
different signs.

Codes:
A B C D
(1) a c d b
2) ¢ a d b
3) a c b d
4) ¢ a b d
(5) Question not attempted
Whatisthevalueufjin}{dx?

(1) =(InX-X)+C (2) X(InX+1)+C
B X(InX-1)+C (49 XInX+C
(6) Question not attempted

(=




63.

64.

66.

67.

P dRma s gad:

11 2
20 1
3 3 -1

(1) 3 2 9

3) 0 4) 4

(5) eI S

el twfi # vgw g v % e
frem fpm e 2

(1) wifst #ft, B=fom (2) af =i

(3) e T (4) ¥iee gefem
(5) Frmfta W

ﬂﬁa=[i “f]qﬂ&mfnm
AT 1 7 B

(1) 27 (2) —
(3) —21 (4) 21
(5) IrgmiRG w¥

32 91 @ wem 2 C = flq) =
10 + 15q — 6q2 + q° A1 Hiar=a = Bt

(1) 15— 12q + 3q®

(2) 10-12q + 3q®

(8) 10+ 15q° - 12q

(4) 16— 12q + 6q°

(5) gaRa e

afe v.ome Afemm F F ooft
;:?crlominated} FEETIE & & e =

(1) & =1 &1 THE B SR |

(2) @ %1 & I & T |

(3) & %1 &1 3-37% Afgwa & @ |
(4) & =1 Fe AT B SR |

(5) FgaRa W=

l
|
|
|
|
|
|
|
|
|
}
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63.

64.

65.

67.

The trace of following matrix is :
A R

20 1
3 3 -1
(1) 3 (2) 9
(3) 0 (4) 4

(5) Question not attempted

Who is originator of the duality
theorem used in linear
programming ?

(1) George B. Dantzig -

(2) Von Neumann P
(3) Al Tucker <
(4) Harold Hotelling
(5) Question not attempted

IfA= E _lﬁ}is a matrix, the value

of its determinant will be :

(1) 27 @) -

(3) —21 @ 21

(5) Question not attempted

If total cost function is C =¥f(q) = 10

+ 15q — 6q® + q° then imrgmal

cost is : f“'“l

(1) 15— 12q + 3¢ :

(2) 10 - 12q + 3q2

(3) 10+ 15¢% - 12q

(4) 15— 12q + 6q2

(6) Question not attempted

If all dominated strategies are

removed from a payoff matrix :

(1) The  solution nf " game
disappears. :

(2) The solution of gamq.?)ecnmas
zZero.

(3) The solution of game still
remains in payoff matrix.

(4) The solution of game becomes
uncertain.

(5) Question not attempted
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70.

71.

72.

72

A wed q=25-4p + p* @ WER ™
el p 3R q Fom: e 3 amn € o
ey i Fwg 5 w¢ } & wh A Hwa
dERTR?

(1) +1.56

(3) +1

(5) argwica S
s T e S P sm A E
A. wieay %1 g

B. 32w %o &1 ffo

C. oW & goe! ) TEeH

D. fiofa =it &t wrwm

(1) A:B-C-D

(3) A-C-D-B

(5) e S

e T Fa T e R 7
(1) wftgd B @

(2) 1.6
(4) -1

(2) D-C-A-B
(4) C-A-B-D

(4) Bxdtsfgeh gt & 3 R-afismofam
(5) ﬁﬂ d oA

I FEqH 1 A & W Faw w RA qw
Wiiifere &= % & % fog e ®
Tl & o 3@ &3 ¥ hafed @
Fifires 9 | it w2 2

(1) TG FrEi 75

(2) T o5

(3) WTEWTE T

(4) 19 S5

(5) T ¥

Ife IrvreR w1 I weA R

U = Xeyl-eqt sfoens $ @7
(MRS,,) 71 §rft ?

(1) (IFa)x/(1-a)y

(2) oxday

(8) (1—-a)x/ay

(4) ay/(1-a)x

(5) FIgTRA ¥
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68.

69.

Tul

71.

Given the demand function
q = 25 — 4p + p? where p and q are
price and quantity respectively, what
is the price elasticity of demand when
the price of commodity is¥ 5?7

(1) +1.5 (2) -1.5

(3) +1 (4) -1

(6) Question not attempted

Following steps of linear
programming model are given :

A. Formulate the constraints

B. Formulate the objective function
C. Identify the problem data

D. Identify the decision variables
Choose the correct order of steps :
(1) A-B-C-D (2) D-C-A-B

(3) A-C-D-B (4) C-A-B-D

(5) Question not attempted

What is the property of a club good ?
(1) Rivalry

(2) Non-excludability

(3) Excludability

(4) Both Rivalry and Non-excludability
(5) Question not attempted

What is name of the good that can
only benefit those within a given
geographical area and may be
non-rivalrous within that area or it
may be partially rivalrous ?

(1) Local public good

(2) Merit good

(3) Public good

(4) Club good

(5) Question not attempted

If utility function of a consumer is
U = XoY!2  what will be marginal
rate of substitution (MRS_) ?

(1) A-a)x/(1-a)y

(2) ox/ay

(8) (1-a)x/ay

(4) ay /(1 —-o)x

(6) Question not attempted
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78.

74.

76,

TGF

The expenditures related with
war-time plan for post-war social

policy (especially the Beveridge plan).
The bunching of such expenditure in
a short period may be called :

(1) Displacement effect

(2) Concentration effect
(8) Veblen effect

(4) Income effect

(6) Question not attempted

According to Wiseman-Peacock
Hypothesis public expenditure
increases —

(1) in a smooth manner,

(2) in a continuous manner.

(8) in jerks and step like manner.
(4) in an efficient manner.

(5) Question not attempted

Consider the following statements
about Niskanen model :

A. Public servants have
substantive private interest.

B. Govt. is likely to oversupply
public services.

Choose the correct option :
(1) Only A is correct.

(2) Only B is correct.

(3) Both A & B are correct.
(4) Both A & B are incorrect.
(5) Question not attempted

Which of the following is not an
example of merit good ?

(1) Education

(2) Health services

(3) Welfare services

(4) Recreational drugs

() Question not attempted
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78.

79.

72

(@) Hu, S
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(5) e s
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%! fuff fear .

a. oW % fagm

b. e = fagm
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(1) a3fib 2 a¥ke

(3) a,bae (4) a,c, 3d

(5) T W

St wfwer & gy § e st

o fmm et

A. e 3R wwr Tt 6 %
muﬁmtsﬁmmmﬂtl

B. WeEET 3191
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(4) A 3 B2 e & |

(6) Frgeita we

7.

78,

79.

80.

Who developed public choice theory ?

(1) J. Wiseman

(2) P.A. Samuelson

(3) James Buchanan and Gordon
Tullock

(4) A.P. Lerner and N. Kaldor

(6) Question not attempted

Which one of the following is correct ?
(1) The impact and incide: of
direct tax falls on the t
person.

(2) Tha impact and mc:.denbﬁ“ of
direct tax falls upon the ’!ime
person.

(3) The impact and mmdenna of
indirect tax falls upon the same
person.

(4) None of these

(6) Question not attempted

Adam Smith prescribed the following
Canons of taxation —
a. Canon of equality

b. Canon of certainty 3.
¢.  Canon of economy N
d. Canon of productivity {;}'

Choose the correct option : <
(2) aande

(8) aandbandc

(4) aandcandd

(5) Question not attempted

Consider the following statements
with regards to  Leviathan
H}'pathesm
Bureaucrats and government
tries to minimize the size of
public sector.

B. Voters can trust
government to spend their.tax
efficiently. <t

Choose the correct option : =r

(1) Only A is correct. ™

(2) Only B is correct.

(3) Both A & B are correct.

(4) Both A & B are incorrect.

(5) Question not attempted
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84.
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(4) whmet = (Foif)
(5) FEME ¥

81.

2

(3) Percentage change in tax revenue

83.

84,

(5) Question not attempted
82,

Buoyancy of an individual tax is
defined as follows :

(1) Proportion ate change in tax revenue

Proportion ate change in tax base

Percentage change in tax rate
Percentage change in tax revenue

Percentage change in tax rate

Proportion ate change in tax base
Proportion ate change in tax ma#ﬁﬁ
o
<
Which of the following is not a non-
tax revenue of the government
(1) Interest receipts on loans
(2) Custom duties
(8) Profits on investments made by

Central Government

(4) Fees for services rendered by
Government

(5) Question not attempted a

Which of the following statement is

incorrect ? ™

(1) Tax evasion is illegal. |

(2) Tax evasion is an offence ana:i}a
punishable.

(3) Smuggling is also a sort of tax
evasion.

(4) In tax evasion the burden of
taxes is shifted through the
vehicle of price.

(5) Question not attempted

A tax levied at 10% on first ¥ 1000
of income, 15% on next ¥ 2,000 and
25% on next 8,000 then the tax'is
said to be - 3,
(1) Proportional 3
(2) Digressive oy
(3) Progressive

(4) Regressive

(5) Question not attempted
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85. Tax system is considered to be

86.

highly buoyant

(1) If the gross tax receipts
increase more than
proportionally in response to
an increase in GDP.

If the gross tax receipts
increase in same proportion in
response to an increase in
GDP.

(3) If the gross tax receipts
increase less than
proportionally in response to
an increase in GDP,

If the gross tax receipts do not
increase in response to an
increase in GDP.

() Question not attempted

According to Musgrave the
distributional changes which result
if one tax is substituted for another
while total revenue and
expenditure are held constant is
called —

(1) Specific Tax Incidence

(2) Differential Tax Incidence

(3) Balanced Budget Incidence

(4) Effective Incidence

(5) Question not attempted

(2)

(4)

Consider the following :

A, Double taxation means taxing
the same ‘tax-base’ twice.

B. In double taxation, the two
taxes can have reference to
different periods of time.

Choose the correct option :

(1) Both A & B are correct,

(2) Both A & B are incorrect.

(3) Only A is correct.

(4) Only B is correct.

(6) Question not attempted
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88.

89

90.

The Laffer curve describes the
relation between —

(1) Inflation and Tax Rate

(2) Tax Rate and Tax Revenue

(3) Consumption and Tax Rate

(4) Economic Status and Tax Rate
(5) Question not attempted

. ListI (Principle of sacrifice),
List-II (Tax liability of rich mﬁn)
and List-III (Tax liability of pgbr
man) are given :
List-I List-I1 List—III
Equal absolute D. More G. Less
sacrifice
. Equal
proportional
sacrifice

. Equal marginal F. Most I
sacrifice ~
Which is the correct match ? - y
(1) C,F,1 (2) A,D, 1
(3) B,E,H (4) A,E, G
(5) Question not attempted

E. Least H. Most

- p

ﬂ;:mt

Which among the following is not
correctly paired ?

(1) Private — rival consumption
goods & excludab]eg,:‘_

(2) Pure public - non-rival =
good consumption &

non-excludable
(3) Club goods rival consumption

& excludable

rival consumption
& non-excludable

[

(4) Open access
resource

(5) Question not attempted
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(2) 35 9 |
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91.

92.

93.

95.

Following definitions are given :

A - Revenue deficit = Revenue
receipts — Revenue expenditure

B — Fiscal deficit = Total expenditure
~ Revenue receipts — Recovery
of loans — Other receipts

C - Total expenditure = Plan
expenditure =+  Non-plan
expenditure

D — Interest payments = Primary
deficit — Fiscal deficit

Which definitions are correct ?
(1) Aand B (2) Aand D
(3) Band C (4) BandD

(6) Question not attempted

Subterranean economy is also called
aﬂ -

(1) Parallel economy

(2) Legal economy

(3) Sanctioned economy

(4) Accounted economy

(6) Question not attempted

The intervention of the government
whether to expand demand or reduce
it is called :

(1) Growth function

(2) Stabilization function

(3) Distribution function

(4) Allocation function

(5) Question not attempted

The benefit approach or its variant,

the voluntary exchange principle was

developed by :

(1) De Viti de Marco and Erick
Lindahl

(2) A.C. Pigou and H. Dalton

(3) D. Dosser and J.F. Due

(4) C. Clark and J M. Buchanan

(6) Question not attempted

Who defines burden of public debt as
the ratio of the total debt to the total
national income ?

(1) J. Duesenberry

(2) J.F.Due

(3) D. Dosser

(4) E.D. Domar

(5) Question not attempted
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96. Functional Finance refers to—

(1) A policy of public receipts &
expenditure with the objective of
achieving economic stability.

(2) A policy with an objective of
balanced budget.

(8) A policy of public receipts and
expenditure with objective of

surplus budget

(4) A policy of public debt and
borrowings with objective of
surplus budget.

(5) Question not attempted

In case of deflationary tendency

within the economy, what should be

done by the government ? ?

(1) Increase in own expenditure with
mcreasmg taxes,

(2) Reduction in taxes with reduction
in own expe

(3) Increase in own expandxtm'e with
decreasing taxes.

(4) Decreasing transfer payments.

(5) Question not attempted

97.

98, List-I (Tax on) and List-II (Effect on

saving) are given :

List-I List-I1
(Tax on) (Effect on
saving)
A. Present consumption E. Increase
B. Present consumption F. Decrease
and future consumption
C. Present consumption G. Increase
and accumulation
D. Future consumption H. Decrease
and accumulation
What is the correct match of List-I
and List-I1 ?
(1) Aand E
(2) Dand H
(3) BothAandE&Dand H
(4) Band F

(6) Question not attempted
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100.

101.

If B, — marginal propensity to consume
of tax payers and By — marginal
propensity to consume of recipients of

government expenditure, then what
will be the value of tax mul

when B, > B, ?

r:..
(Y = Income, T = Tax) N
(1) (AY/AT)=1 (2) (AY/AT) €9

(3) (AY/AT)>1 (4) (AY/AT) =
(6) Question not attempted

Treasury bill is
(1) A security of the government
having a maturity of 364
shorter issued at discounted
and redeemable at par. B
(2) Overdrafts from RBI to Cenpgre
for period of 10 consequtive
working days, A n)
(8) A security of Central Government
having maturity of 365 days or
more issued at discounted price.
(4) Bills which can be rediscounted
by RBI within three months.
(5) Question not attempted
o
Tax rates are so fixed that i
upward phase of the bumeaa?gcl
wI:th the increase in national
the tax yield would automati go
up at a faster rate than the increase
in national income without any
changes in the tax rates. This device
is technically known as :
(1) Formula flexibility
(2) Built in flexibility
(3) Discretionary action
(4) Growth-induced fiscal policy
(5) Question not attempted
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102.

103,

104.

On account of public expenditures,
the size of consumption tends to
increase in the economy because :

a. Public expenditure tends to
redistribute income in favour of poor
and their marginal propensity to
consume is high.

Public expenditure provides free
medical care, education so as real
income of beneficiaries incréases
and so the capacity to consume
¢. Public expenditures i e
money income of the people so
consumption increases. B
Publi fibive ;
income in favour of rich wm
E;rhginal propensity to consume 1s

Chmsebomactnptiﬂn:
El} aandb (2) aande
3) aandd (4) bandd

(5) Question not attempted

Which is not a benefit of GST in India?
(1) Uniform taxation of goods ar
services across all states.
(2) GST will not help in
‘co-operative federalism’.
(3) New GST regime is simpler. =
(4) Tax neutrality for business as the
scope of input tax credit has been
widened considerably.
(5) Question not attempted
Consider the following :
A. Govt. of India enacted FRBM Act
in 2003. 2
B. Its main objective is to
intergenerational equity and long
term macro stability by achi
sufficient revenue surplus. E)
Choose the correct option :
(1) Both A & B are correct.
(2) Both A & B are incorrect.
(3) Only A is correct.
(4) Only B is correct.
(5) Question not attempted
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105.

lﬂﬂ.

107.

108.

What is the five year period to be
covered in the final report of the
Fifteenth Finance Commission in

India ?
1) 2021 to 2026 22; 2020 to 2025
?g 4) 2022 to 2027

2019 to 2024

Question not attempted
Which of the following is not
correct with regard to financial
administration in India ? )
(1) The property of Union is

exempted from State taxation.
(2) The State

borrow generally
territory of India
of the Central Government.
(3) The  President may declare
financial emergency under
%itﬂe 360 of thﬁ Constitugtiutie
e and income
Stqtepr?aprgrtynnt exempted from
Union taxation.
(5) Question not attempted
Consider the following regarding
Ricardo’'s comparative advantage
theory of international trade :
A. As per the theory, trade is not a
Zero sum game,
B. It assumes constant marginal cost.
Choose the correct option :
(1) Both A & B are correct.
(2) Both A & B are incorrect.
(3) Only A is correct.
54) Only B is correct.
5) Question not attempted
Fullowinﬁ statements are given :
A. Subsidy on fertilizers is provided
the Central Government.
B. Subsidy on water is not provided
by the State Government.
C. A public
expenditure on i

rmment can
only within the
with the consent

(4)

large portion of

agriculture in
recent years went into current
expenditure in the form of
increased subsidies for food and
agricultural inputs,

D. Increasing expenditure on
au s 18 not considered as
development expenditure in India.

Which of the st.atamanti i;;'ﬁ%““?

1) CandD EE;
3) Band D 4) Aand C
Question not attempted
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110.

111.

regarding the Hecksher Ohlin theory
is not correct ? Heckscher

(1) It focusses on the source of
production side differences.

It predicts that a coun exports
products that are prod with
less intensive use of the try's

(2)

abundant factors.
(3) Production side differences occur
because different products use

the factors of production in
different proportion.

Production side differences occur
because countries differ in
relative factor endowments.

(5) ' Question not attempted

Which statement rega:&n&h]mma

of payments transactions is tiue ?

(1) Autonomous transactiohs are
also known as ‘below the line'
transactions. N

(2) Accommodating transactions are
also known as ‘above the line’
transactions.

(3) Accommodating transactions are
of ex ante nature.

(4) Accommodating transactions are
the result of balance of payment
gituation.

(5) Question not attempted ,

Which of the following stﬁtement
regarding opportunity cua# 1heury
is not true ?

(1) It is a classical trade th%e‘ty

(4)

(2) It wuses the concept of
production possibility curve.
(3) It wuses the concept of

community indifference curve.
(4) It discards the labour theory of
value.
(5) Question not attempted
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e
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TR H I
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(4) Irafes @ra smaR f g ik
IYfreT =TI o

(5) Hgwita 99

FuERaE R

(1) sraw & fagm=
(2) o4 %1 a4 fagr

(8) wed wiwat =1 fagr
(4) utn = g
(5) e

(1) W 1948-49 % & gr goveg e o |

(2) =R $1 7w w F iy et dw &
ek ir-Eak-eed 4

(3) ¥ et 2w it 2 =g Fafomr =
¥ qun e fafa aen gEwE w5
U Bt R |

(4) MR ! 3779 7 H gfg T # Frafa
i | w1 A gwe # gy
! gt & |

(5) rgeiia ¥
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112,

113.

114.

115.

1186.

In Harberler's theory of c:fpurtum.'ty

costs, trade 'I.l]il Eé‘ ecreasing

opportunity costs leads to i

(1) Complete ializati pc&‘pm&mt:inn
of X and Y commodities by country
A and B respectively.

(2) Incomplete  specialization  of
Emduﬂil;?; if X EEBY cumm?dﬂiaes

coun an respectively.

EB; o trade will take

4) No gains from trade to both the
countries,

(5) Question not attempted

The concept of ‘Single Factorial

Terms of Trade’ was developed by :

1) Tauss EE} Find

;

Jacob Viner (4) J.S.
Which of the following terms of

lace.

Question not attempted
trade index involve the

measurement of disutility in terms

of disutility and sacrifice ?

(1) Commodity terms of trade and
single factoral terms of trade.

(2) Gross barter terms of trade and
double factoral terms of trade.

(3) Income terms of trade and

@ 88 barter terms of trade.

4

eal cost terms of trade and
utility terms of trade.

(5) Question not attempted

Ricardo’'s law of

advantage is based on :

(1) The opportunity cost theory

(2) The labour theory of value

(8) The law of diminishing returns

(4) The law of reciprocal demand

(6) Question not attempted

What is not true regarding income

terms of trade ?
(1) It was formulated by Dorrance in
1948-49

comparative

(2) An increase in income terms of
trade is definite indicator of
increase in welfare of a country.

(3) It is net barter terms of trade of
a country multiplied by its export
volume index.

(4) A rise in income terms of trade
shows an increase in country’s
capacity to import based on exports,

(5) Question not attempted

o




117. Baoer-sEfm oiga #1 34 @ 7=
TeAd 8 7
(1) gued wmH H AE R w0 § arf
Lo Tt E |
W}mﬁmﬁaﬁﬂimaﬁm
wfess TR 9 £ |
)a@awmﬁ@hﬁm’rﬁmh
) AR T&aa a1 ATTe-Ed 2 | 1
5) Fgwia T
118, vA-Sima guEmw g s i |
o W AT S R, TR
(1) =R T T¥E A
(2) SR & FHedml 1
(3) =MW & |EH-A™
C(4) SR F WU 1
+6) FTIA wH
el fogrm F gER e &
S 1 T AEEg i g ?
) WY ITETE "I
(2) eeATEATS
(8) ETH& HTUH ITeTEET
(4) wft
(5) IFgwiE ¥
120. L g K- 30767 & 9194, AT B-21 39
XY -2 ol & | g1 A 5w
LoTER 8 aee gateer afv g1l OH

mﬂm"m'!
f; g1 11
poC. Afism G (WKA> (/KB
(O wEiEe
D. BHEdsdt H. (KL)B<(KL)A
wafean
E Xmma I (KLY > ®LX
F. Yfftmew J. (KX <@KY
faddw e eRad 7

(1) C-GmF-1I
(2) C-GamD-H
8) E-JamF -1
(4) C-JTmmE-H
(5) ¥rgmica e

o 2

A —— . — —— — . e St

. What is the

HE0DO

. Which is the wrong assumption of e—

the Heckscher-Ohlin model ?

(1) There are fixed endowment
quantities of the factors which
are homogeneous.

(2) Production is subject to increasing
returns along isoquants.

(3) There is perfect competition in
goods and factor markets,

(4) Trade is free and costless,

(5) Question not attempted

. Factor price equalization theorem

studies the relation between :

(1) Trade and National Income

(2) Trade and Welfare

(3) Trade and Factor Incomes

(4) Trade and Factor Prices

(5) Question not attempted

most  important
determinant of trade between nations
according to Heckscher-Ohlin theory ?
(1) Factor endowments

(2) Technology

(3) Relative factor endowments

(4) Tastes

(5) Question not attempted

. L and K two factors of production, A

and B — two nations, X and Y - two
goods. List-I is related with factor
intensity and factor-abundance and
List-II relates with definition.

List-1 List-II
Ais L-abundant G. (LKA > (L/K)B

. Bis K-abundant H. (K/L)B < (K/L)A

X is L-intensive 1. (K/L)Y > (K/L)X
Y is K-intensive J. (LK)X <(L/K)Y
Which one of the following is
correct match ?

(1) C-GandF-1I

(2) C-GandD-H

(3) E-Jand F-1

(4) C—JandE-H

(5) Question not attempted
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121, wra # fem ad & wdy awfas aemm
wrds ) yEaTa 1 g ot ?
51; 1998 (2) 1997
3) 1996 (4) 1995

(B) FwE W
122, 98 %1 @1 wEwEn & W et ® Sfew
Hfy & forg ieenfea s & 2
(1) 7% T HE T
(2) weegenTe iy farere Ao
(8) m?ﬁtmmﬁnﬁ
(4) TRt Ty fem g
(5) eI
123, firm = & Wi v w1 e R
T Y1 7

{1; 1976
(3) 1978

(5) FHwIE W
124, P s R ma g .

A, w3 7§, 2018 # TR e A
= e feea o |

B. &ffus wR W, WiE e ) awqel
TR WY I 20 8 |

C. g1 IUN ST TRA FT T w3
Jam R |

D. e e ¥ wud v I semem e k|

E. =¥ 1991 # wiive 3um # e
WOTTE! ST o R o |

Peddafi s sRaTR?

(1) B,C¥D (2) A,BaC

(3) A¥D (4) B,C3E

(5) HARA W

125, wmfor af wwh dmt # gEw IwwEA A

AT 0 AW 6 G0 & G W

Fyw e i - e wHwE w1

=18 24

(1) & e awTed Ao

(2) SUTAHAT TG TG AT

(3) YTt W1 TSHTR-GA HRIHA

(4) a9 Inft 5H-a

(6) FFeHA T
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(2) 1977
(4) 1979

121. In which year the National Social

Asgistance Programme was
launched in India

(1) 1998 (2) 1997

(3) 1996 (4) 1995

122.

123.

(5) Question not attempted
Which one is the programme that
encourages farmers for promoting
organic farming ?

(1) Soil Health Card Scheme

(2) Paramparagat Krishi %aa
Yojana o

(3) National Mission  «ffor
Sustainable Agriculture «

(4) Pradhan Mantri Krishi Sinehai
Yojana

() Question not attempted

In which year the Bokaro Steel

Plant was commissioned ?
(1) 1976 (2) 1977
(3) 1978 (4) 1979

(5) Question not attempted

124, Following statements are given :

A. Government rolled out a National
Steel Policy in May, 2018,

B. Globally, India is the &eut
roducer of Jute goods.

C. Textile industry is the l(;gaut

industry of modern India.

D, India is the largest gar
roducer in the warlcf s
E. The cement industry was

delicensed in 1991,
Which one of the following shows
the correct statement ?

(1) B,CandD (2) A, BandC
(3) Aand D (4) B,Cand E
(5) Question not attempted

Which is the credit-linked subsidy
program that aims at ganeratinﬁ
employment opportunities throug
establishment of micro-enterprises
in rural as well as urban areag?
(1) Deen Dayal Antyodaya Yojana
(2) Pradhan Mantri ya
Vandana Yojana o
(3) Prime Minister's Employment
Generation Programme
(4) Pradhan Mantri Shram Yogi
Maan-Dhan

(5) Question not attempted

125,




126, fifr s g 28 Tt /vt wawt
d femt ammeieft forell (Aspirational
districts) it vEaH HI TR ?

(1) 48 (2) 72
@) 117 (4) 147
(6) i e
127, g1 1 g=fi-11 & frem i
g1 11
A IR i, FY R #
Pefores nfeffirgt
w1 G 0
o MOAFW, Wi
T H @Y
EA
B. §-9 i, T 4o
e wfedt 39-
LI
C.ugwamd il M Fwa & fg
TEh T HATHTH! &THR
D. @HE  iv, fREARiEIeERE
g % feau §ometie
g
we foremeq o
AR © B
1 1 v m 1
§ﬂi v @i i i
3 il ni 1 v
4 4w i W
(5) Fgeifa v |

128, fr=r & & fopg v W 2022 # fave =mw
wEA 1 124t nfEwd e g ?

(1) e (2) 3rauTet |
(3) R Hmd  (4) e |
(5) 3w e |

129. Hifs s g gfewfemm v e & |
Ta‘tﬁﬁﬁnﬁﬁuﬂqmnﬁmw l
(1) wETfiren (2) wuifRmeRTor ;
(3) fosl (4) wreeffar
(5) rgwite wes |

o 34

126. How many aspirational districts
acroas 28 states/UTs have been

identified by NITI Aayog ?
El; 48 52) 12
3) 117 4) 147

(5) Question not attempted
127. Match List-I with List-1I :

List-I List-II

A. MRIN i Autonomous
organization of
MOAFW, Govt. of 9N
India to carry out
academic activities/in
agricultural <
marketing. b

B. e-NAM ii. Capital investment °
subsidy sub-scheme of
ISAM.

C. AMI iii, Unified virtual market
for agricultural
commodities.

D. NIAM - iv.e-govt. portal to
connect farmers to o
market, od

Choose right option : cd

A B C D i
1% Ao v Sl <}
2) iy idioi ™3
3) 1 i  ejy o
4) Wi ow s ke

(5) Question not attempted

At which of the following place the
WTO'’s 12 ministerial conference
took place in 2022 ?

(1) Geneva (2) Abu Dhabi
(3) Buenos Aires (4) Nairobi

(5) Question not attempted

. Which of the following is r~. t
included in the seven pﬂlu&(
effective governance envisaged by
NITI Aayog ? :
(1) Participation
(2) Empowering
(3) Decentralization
(4) Transparency
(5) Question not attempted

128,

[
| 5=]
=]

<
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180, =% 3R TR 931@T (MoLE) 3 sremiae
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9w famfan e & @ifs 39 Tomm
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5

lani

131,

132,

133.

134,

The Ministry of Labour and
Employment (MoLE) has
developed a portal for creating a
National Database of unorganized
workers for optimum realization of
their am}alnyahi]ity and extend
benefits of social security schemes
to them. The name of the portal
is —

El} ASEEM Portal

2) National Career Service Portal

8

In which year the Pradhan Mantri
Suraksha Bima Yojana started ?
él) 2014 (2) 2016

e-Social Security Portal
e-Shram Portal
Question not attempted

3) 20156 (4) 2017
5) Question not attempted

Which of the following was the
largest trading partner of India in
the year 2022-23 7

(1) China (2) US.A.

(3) U.AE. (4) UK.

(6) Question not attempted

Which is the scheme designed with

an aim to uplift the urban poor

folks by enhancing sustainable

livelihood opportunities through

skill dav&ltépmant ?

(1) Coir Udyami Yojana

(2) Deen Dayal Ant;(odnya Yojana

(3) Prime Ministers Employment
Generation Programme

Ed) PM Ujjwala Yojana

5) Question not attempted

Which of the following States have

became ‘Har Ghar Jal' state i.e.

100 percent households are having

tap water supply upto January

2023 ?

(1) Goa, Karnataka, Tamil Nadu,
Maharashtra

(2) Haryvana, Gujarat, Rajasthan,
Andhra Pradesh

(3) Assam, Uttar Pradesh, Goa,
Tripura

(4) Goa, Gujarat, Telangana and
Haryana

(5) Question not attempted
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afeTg
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135. Which programme/plan is being
implemented by Indian Govt, to
augment facilities for quality
medical education in the country ?
(1) Pradhan Mantri Sw a

Suraksha Yojana.

antri  Ayushman
Bharat
Mission.

(3) Ayushman Bharat PM Jan
Aarogya Yojana.

(4) e-Sanjeevani.

(6) Question not attempted

In 2018-19, these four states

together accounted for 43.2 percent

of total factories, 47.2 percent of

total invested capital and 48.1

ercent of gross output of India.
ese four states are :

(1) Madhya Pradesh, Uttar Pradesh,
Karnataka and Tamil Nadu

(2) Maharashtra, Gujarat,
Karnataka and Tamil Nadu

(3) West Bengal, Uttar Pradesh,
Maharashtra and Gujarat

(4) Rajasthan, Andhra Pradesh,
Gujarat and Tamil Nadu

(5) Question not attempted

Which of the following

infrastructure sector of India is

related to Bharatmala Project ?

(1) Telecom Sector

1 36'

137.

(2) Railway Sector

3) Road Infrastructure

54 Port Sector

5) Question not attempted
188. Match List-I with List-II related to

icultural Development Programmes
of States :
List-I List-II

A. KALIA Yojana i ‘B

aryana
B. Mukhyamantri Krishi ii. Odisha
Aashirwad Yojana
C. Rythu Bandhu Yojana iii. Jharkhand

D. Chiraag iv. Telangana
Choose the cnn‘-:ect Iu)ptiun $
1; 1 TR T S« FEN
2) i i i iv
3 i iooiv o i

4) iv i i i
(5) Question not attempted
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139’!

140.

141.

142,

Which of the following was not
responsible for satisfactory balance
of payments situation in post-
reforms period in India ?
(1) High earnings from invisible
items. o8]
(2) Rise in external commebéial
burmmgs 2
(3) Increase in foreign investmest.
(4) Fall in non-resident deposifs.)
(5) Question not attempted €O

In which of the following budgets
Government of India discontinued

having plan and non-plan
clasgifications of Government
expenditure ?

(1) The Budget FY 2018

(2) The Budget FY 2019 n
(3) The Budget FY 2017 B

(4) The Budget FY 2016 B
(5) Question not attempted .

The railway budget was m d

with the union budget fro

2018 in India. The initi

envisaged for,

(1) improving government's financial
position.

(2) improving railway's financial
position.

(3) facilitating financial resources
for high speed railway projects.

(4) facilitating multi-modal
planning between high
railways and d
waterways. N

(5) Question not attempted J

Which of the following puamﬁ%rs

is not included in liberalization of

the economy ?

(1) Permit free flow of goods across
national frontiers.

(2) Free flow of capital among
nations.

(3) Free flow of technology among
nations.

(4) Privatization of public sector
enterprises,

(5) Question not attempted
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143‘

144.

145.

Which one of the following is not a

policy measure initiated by Govt.

of India in 1991 towards

globalization ?

(1) Exchange rate adjustment and
rupee convertibility,

(2) Import liberalisation

(3) Opening-up to foreign capital’d

(4) Export promotion o

(5) Question not attempted ﬂ.ﬁ

Which of the following is the targét
for achieving the vision of ‘fhe
national logistics policy of India ?
(1) To reduce the cost of logistics
in India to be comparable to
global bench-marks by 2030.

(2) To reduce the cost of logistics
in India to be comparable ‘33
global bench-marks by 2035,

(3) To reduce the cost of logis
in India upto 50 percent from
global bench-marks by 2030,

(4) To reduce the cost of logistiée
in India upto 50 percent from
global bench-marks by 2035.

(5) Question not attempted

During FY 2012 and FY 2021 the

industrial sector accounted for

(1) 20 percent of the GDP on
average and employed over(7.2
crore people N

(2) 45 percent of the GDP “on
average and employed
15.1 crore people O

(3) 41 percent of the GDP on
average and emploved over
10.2 crore people

(4) 31 percent of GDP on average
and employed over 12.1 crore
people

(5) Question not attempted

72



146. Y@ % Wrgn s, 8 FHed SEied
% 9ER, 99 2020 # wa9 IIfos 5 F

TTEAT T o1

(1) faem (2) IWIEH

(3) TR (4) wefETE
ff (5) IFeia W
11123@*@%%@&51%@'&%
1) HRIFH % T YRA § TR T BH

O a7 39T e SrgETE T a7 ?
D (1) mprehiR R
(2) TR gUR
(8) YT WEH i 2 H JUR
(4) TafEm aen aEwfe I9%F gUR
() SR 9
15§mﬁmﬂwaﬁmmm
B HFEG TR 7
Lo (1) wifGEht vd iy Haf=gs m@e
nJ(2) gmE
f““(s}-ﬁﬁra:rrﬂrr
(4} TP v wEEn wafeg
(5) el wet
149, Pr=forfam # & = @1 soEg ofEd w
it w5 e & s Pt f @ o
t-?
{1) ey |
{2) Had i 7 U e
;u,.{a) g e fr
D (4) Tt T fere e
*‘*~ (5) Freia S
150 s # & ® &1 g feam #iEe =
A1 1 Aeieniferes whiee dim e g 7
(1) %ES B F AqE F @
(2) Fare fagum o |
(3) P 3tk wrag nhfait & fire frdw |
O ATETEwaT 7

(4) Pram viER ) 309 sawwad. |
(6) FFeRa e

72

146. The State having the highest birth
rate in 2020, as per the Office of
Registrar General of India, Ministry of
Home Affairs, was

(1) Bihar

(2) Uttar Pradesh

(3) Rajasthan

(4) Chhattisgarh

(5) Question not attempted

Which measure has not been adopted
by government in India under the
during economic reforms ?

(1) Control of inflation

(2) Fiscal correction

147.

(3) Improving the balance of
payments position.

(4) Disinvestment and public
enterprise reforms.

(6) Question not attempted
Quarterly Employment Survey (QES)
in India is conducted by
(1) Ministry of Statistics and
Programme Implementation
(2) Labour Bureau
(8) NITI Aayog
(4) National Sample Survey Office
() Question not attempted
Which of the following is not one of the
eight missions of National Action Plan
on climate change ?
(1) National Solar Mission
(2) National Mission on Sustainable
Agriculture
(8) National Water Mission
(4) National Rural Development
Mission
(6) Question not attempted
160. Which of the following component
shows long term credit limit portion of
Kisan Credit Card Scheme ?
(1) Post Harvest Expenses
(2) Produce Marketing Loan
(3) Investment Credit Requirements
for Agriculture & Allied Activities.
(4) Consumption Requirements of
farmer households.

148,

149,

l (6) Question not attempted
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